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. Lexor created 2 stacks with 15 logs on each. How many logs total? =
. Lexor created 4 stacks with 15 logs on each. How many logs total? =
. Lexor created 8 stacks with 15 logs on each. How many logs totale =
. Lexor created 5 stacks with 15 logs on each. How many logs totale =

. Lexor created 7 stacks with 15 logs on each. How many logs total? =

. Lexor created10 stacks with 15 logs on each. How many logs total? =

Lexor the Lion is placing 15 logs in each stack.
Help Zander the Zebra figure out how many logs he’ll by hauling in each trip.

Lexor created 3 stacks with 15 logs on each. How many logs totale =
Lexor created 6 stacks with 15 logs on each. How many logs totale =

Lexor created 9 stacks with 15 logs on each. How many logs totale =




